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MECE-001 : ECONOMETRIC METHODS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from both the Sections

as directed.

Section—A

Note : Answer any two questions from this

Section. 2%20=40

1. What is meant by multicollinearity ?
Explain how to detect multicollinearity in a
regression model. What are the remedial

measures for multicollinearity ? 20
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2. Discuss with example, how the
structural stability of regression models can

be tested. 20

3. What do you mean by measurement error ?
Explain briefly why measurement error in
the explanatory variables leads to biased
and inconsistent parameter estimates, while
measurement error in the dependent
variable does not. 20

4. Construct a simultaneous equation model
describing the market mechanism of an
agricultural commodity. Derive the reduced
form parameters in terms of structural
parameters in your model. What is the
economic meaning of the structural
parameters and the reduced form

parameters ? 20
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Section—B

Note : Answer any five questions from this

Section. 5x12=60

5. What do you mean by discrete probability
distribution ? Discuss bionomial distribution
and justify why it is considered as a discrete
distribution. 12

6. What do you mean by point estimation ?
How do you select the best among various
estimators ? Illustrate. 12

7. Explain the least squares method of
estimation. 12

8. Explain briefly the maximum likelihood
method of estimation. 12

9. Test the hypothesis that there is no
relationship between the variables X and Y
in the two-variable regression model. 12
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10. From the given dataset, calculate By,p,,Bs,

ESS, RSS, TSS, R2 and F : 12
Y X1 Xo
40 4 7
60 6 10
50 8 11
70 10 6
80 12 7

11. What is the generalized least square
method ? Critically examine estimation
procedure of generalized least square

method. 12
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MECE-001
et feuTrer (3refomres)
(Tn. . 4t.)
L EIGRCRIE |}
S, 2025
w33, -001 : reffufaes ufafeat

gayg : 3 yo2 SfeFaH 37F : 100

FT : S 9 G IR 97 & HISTT |

WT—eh
T : 39 YT G fF5T @ 991 % I fafaw; 2x20=40

1. wgHed w1 o we ¥ 7 wwwmsy fe foee
JATEA YA § SgEEdl $9 A St Sl B
TEERE! & GHIYH & F1 U § 2 20
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T dfed Tugmst o ydtwmma gfqes |

GEoIeTeh feera ot Sife fohd WeRR <Rt ST Tehell T |
20
oA Y Afe w0 AfuE ¥ 2 9A9 § wmems
fr =R 9 | A & I F uEa &
St oy =R & Ao & qfe W U F TR
=l | 20
Tk Kt a%] i AR GfhAT Shi SATRAT i ol

IS FHIH YA SET 1 791 39 YfaaH &

AT UTacll & €9 H FHMIG greel i St

ST | TS Yrell Td 9o Yr=el bl

affefer rfvTuT o= Bhm 2 20
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—
T : 39 Y71 Q [l gier g9 & S fafan

5x12=60

5. 3THqq AVl ded 9§ ST F U™ § 2 fgue

S i A HifU IR TH=mEe & 3@ TH

3T S F1 HHET Sl S 12

6. Tog STTATA | N AcHd § ? MY IS STARI

T gadIss &1 999 Thy YR hid & ? 3SR

Hig 12

7. SIIAEMA &t =<Aad o fafy i g9emET 12

8. &Y H Afyehan HueAd AIHAA fafy &t =
Hife | 12
9. TH EURUN HI W9 wiww f& T fg=

JATTH FiaA e § X q91 Y =R & o9 i qwry
T 7 12
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10. feq MU SRSt & ¥ & MER W By, B,,B5, ESS,

RSS, TSS, R2 @& F &1 3T&haid hifg : 12
Y X; Xs
40 4 7
60 6 10
50 8 11
70 10 6
80 12 7

11. WMRAERG Aag o fafy @ € 2 39 gme=ied
=[AaA a1 fafe o1 srgaea gfafy i srereHHs

THIET HIfST | 12

X X X XX
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